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Which one of the following is NOT correctly

matched ?

(Country)
(@) Morocco e gg%;:ttal)
(b) Tunisia s
(c) Algeria I Aoy
(d) Cape Verde = R

Where was the Mitti Bac i
Movement started in India I;ao (Saptiofod)
(a) Thane, Maharashtra

(b) Mysore, Karnataka

(c) Darbhanga, Bihar

(d) Hoshangabad, Madhya Pradesh

Postmasburg and its adjacent areas of South

Africa is major produce i i
minerals jorp r of which of the following

(a) Uranium

b) Bauxite
(c) Manganese )

(d) Mica

Without green house effect, the average
temperature of earth surface would be
(a) 0°C (b) —18°C

(c) 8°€C (d) —20°C

Match List — | with List — Il and select the correct
answer using the codes given below the lists :

List -1 List- Il

(Mountain) (Country)
A. Atlas 1. France/Spain
B. Kalimanjaro 2. Ecuador
C. Chimbrozo 3. Tanzania
D. Pyrenees 4. Morocco
Codes : '

A B (o D

(a) 4 3 2 1
(b) 4 1 2 3
(c) =2 3 4 1
(dy 1 3 4 2

The entire sequence of communities that
successively change in a particular area are

called |
(a) Ecclogical succession
(b) Sere '
(c) Community dynamics
(d) Pyramid of biomass

In Malaysia, the ‘Kinta Valley’ is famous for

(a) Rubber Production
(b) Tea Production
(c) Tin Production
(d) Coffee Production

(a) TR - @i -
(b) ZEHTRT - g
(c) resfiftat - 3o
(d) 9 a2 = Ciical
. 9Ra # figt w=nat e FEl 8 YR BT ?
(a) 9H, HERTS
(b) A, FfeH
(C)M1ﬁ3r{'
(d) BerTETG, HEANEY
. cfgoft sk @ 3R 39 wfivadl &3
Ffafad & & fre afts & e Iaes & ?
(a) ZtFrm (b) FaETEE
(c) Frfts (d) 35
. B 78 w9 (fF 7eE $hee) & e § Y-Haw
1 3iEq qgEE B
(a) 0°C (b) —18°C
(c) 5°C (d) —20°C
— | =1 gt - 11| & gafera Hifvg qon *
gfiﬁ@‘gﬁaﬁwiﬁn: Aol
et -1 g - 1I
() (3w)
A. TTEE 1. B8 /EH
B. it 2. g¥ER
C. fematsit 3. gewTET
D. g 4. Wi
w.
A B C°D
) din 13N
b
}g 149 St ava
wHERI 1 quish Sl S U Pt e w
Feerdl 8, HET
(a) wififeufoen arsen
(b)!ﬁmm
(c) §Ha™
(d) Srawr @1 frofie
waifdr § fepver aréy wfg 2
(a) TR IearEA & ferg
(b) =™ JeureH & fern
(c) fom 3earea & femg
(d) wEa Ieared & forg

RFL-|

fiferRas # @ H-81 TH TEl GAfrd TE @ 7
(3w) (TrrET)
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8.

10.

11,
12.

13.

14.

18.

Which of the followin
contains iron (Fe)?
(a) Chlorophyll

(c) Keratin

g natural Substances

(b) Collagen
(d) Myoglobin

The equator does NOT
the following Countries ?
1. Gabon

2. Somalia

3. Equatorial Guinea
4. Rawanda

Pass through which of

Select the correct answer using the codes given
below.

Codes :
(@) 1and 4 (b) 2and 4
() 2and 3 (d) 3and 4

Change in the base sequence within a gene is
called

(a) Mutation - (b) Cloning
(c) Fusion (d) Breeding

Which Part of the Constitution has the provisions
for Panchayati Raj System ?

(a) IX (b) VI

(c) 1l (d) IVA

Which of the following is used in fire alarm ?

(a) Photo cell (b) Water

(c) Solar cell (d) None of the above
When was the third tier added to Indian Federal
System ?

(a))’ 1990 (b) 1991

(c) 1992 (d) 1993

Which of the following polymer is NOT a
thermoplastic ?
(a) Teflon

(c) Polystyrene

(b) Neoprene
(d) Polythene

s NOT possible by @ law of

Which of the following | e Constitution ?

Parliament under Article 3 of th
(a) Formation of new States
(b) Alteration of areas of.States 3
(c) Alteration of boundaries of Staté

(d) Admission of new States

8

10.

19

12.

13.

14.

18.

RFL -1
Wﬁammmﬁmmwﬁm
?
(a) FARITES (b) Wit
(c) Fufew (d) AR .
Frrferfen & @ o 29 @ g ywea Tt
T R ?
1, =
2. Hmfern
3, ywen Wiy firft
4, &8
T2 R 7 5 & e T g |
L
(@) 134 (b) 23R 4
(c) 23k 3 d) 334
o % T g U # aiEd wEem &
(a) I@fE (b) wfeeqor
(c) HaH (d) S
dfeym & feg wm. § e U9 Sae geae
YTy el M €2
(a) IX (b) VI
(c) Il (d) V&

H e # fefaied d @ free swgm fen
AT R ?

(a) ®I & (b) 9t

(c) @R ¥ (d) IR § § H1$ TE
WY FeTeqeh sqaed g ae wE W T 7
(a) 1990 (b) 1991

(c) 1992 (d) 1993

e & & - g, T ydientRs 8§ & 7
(a) 5T (b) e

(c) wifereda (d) diferefq

frerfrftae # & Fr-w1 wfum % 39992 3 % T
HeE % TH BT G0 wE TR 7

(@) T TH! ®l T

(b) T4t % anit A witada
(c) T4t & wimratt & gftads
(d) 7 Tl T FEA
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16.

A7

18.

18.

20.

21.

In human body, the digestion of protein begins in
which of the following organs ?

(a) Liver

(b) Mouth

(c) Small intestine

(d) Stomach

In the removal of which of th i i
_ e following officials
does the Parliament NOT play any role ?

1. Judges of the High Court
2. Judges of the Supreme Court

3. Chairman of the Union Public Service
Commission

4. Comptroller and Auditor General of India

Choose the correct answer from the codes given
below.

Codes :
(a) 1and 2 only

(c) 1,2 and 3 only

(b) 3 and 4 only
(d) 3 only

Use of polished rice in human diet causes
following diseases
(a) Rickets

(c) Goitre

(b) Anemia
(d) Beriberi

The superintendence, direction and control of all
elections to the Panchayats are vested in

(a) The Governor

(b) The Election Commission of India

(c) The District Panchayat Raj Officer

(d) The State Election Commission

Which of the following vitamins is mainly responsible
for blood coagulation in human being ?
(a) Vitamin K (b) Vitamin E
(c) Vitamin A (d) Vitamin C

Which one of the following pairs is NOT correctly
matched ?

(a) Interstate Council - Aricle 263

(b) Finance Commission  — Artycle 280

(c) Administrative Tribunal -  Article 323A
—  Article 315

(d) Union Public Service
Commission

17.

18.

19.

20.

21

e 3 § F-F TeiEral =) g2 | §He Y g
siftet 7@ B 2 7

1. 359 FAHE F AT

2. Iouaq AT & =i

3. A, HY ik Tal AT

4. @ & fre i weedias

Hi9 Gl ™ gz A v A |

e

@Fad 1am 2  (b) Faw 3TUT 4

(c)Had 1,23 (d) ad 3

e SRR # wiiew fRY g =ee % 39 &
Fr=feafaa W 2 wmar @

(a) F@T T (b) TETETT
(c) ¥=m (d) shed b

TErdl % fore R I arer et Prafesl & deed
&1 arefigw, FRym ot P fifa gran 2
(a) TsIUTE #

(b) yra % Fafem s &

(c) e varE = ftrerd &

(d) T=a Frates amam o g

P § 8 - et g f e 8
% for Rreirer 2 ¢

(a) Frerfim & (b) faerfimr &
(CRECUEERY (d) fererfim «ft
Feaferae ol 3 & F-an o vl e R
() St s - ogwu2e
(b) farer st - Igedq 280
(c) sl =t~ apedg 328%
(d) 9 &6 a1 SEn -

ST 316¢
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22.

23.

24.

25.

26.

Consider the following sta
e, g statements about human

1. The brain is responsible fi i
hgart el p or regulating the
2. Itis responsible for balancing the body.

Select the cor i :
e rect answer using the codes given

Codes :

(a) Only 1 is correct

(b) Only 2 is correct

(c) 1 and 2 both are correct
(d) Neither 1 nor 2 is correct

Which Article of the Indian Constitution describe
the Central Vigilance Commission ?

(a) Article 268 (b) Article 280

(c) Article 276 (d) None of the above

Which of the following substances is obtained
from a tree ?

(a) Asafoetida

(b) Bitumen
(c) Tincal

(d) None of the above
Consider the following Chairpersons of the
National Women Commission :

1. Jayanti Patnaik

2. Mamta Sharma

3. Dr. Girija Vyas

4. Dr. Poornima Advani

Select the correct chronological order of their
appointment from the codes given below.
Codes :
(a) 2,1,3and 4
(c)1,3.4 and 2

(b) 2,3, 1and4
(d) 1,4,3and2

Given below are two statements, one is labelled as

Assertion (A) and other as Reason (R):

Assertion (A): |nvert sugar is more sweeter than

SucCrose. '

Reason (R) : Invert sugar is obtained by the

hydrolysis of sucrose.

Select the correct answ

below.

Codes : ‘

(a) Both (A) and (R) are :r:::)and (R) is the
correct explanation © _

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A)is false but (R) 1S true

er from the codes given

22.

23.

24.

25.

26.

RFL-1
e HeTss % 9 A Prefafed wUE W EER

Hifvr :

1. TiGTes geaTR o TR Ta o o STReRl @ |
2. 77 T % Tqer % fore Jwerll R 1

2 2 ™ F2 | wd IW I |

R

(a) Fa@ 198 &

(b) ¥ 29E1 &
(c) 1 3 2 Gt wEl &
@aM1TR 2802

TRt SRYE H FH-F ST Heed Hashal
RN T Ui AT 8 7

(a) F=oG 268 (b) =5 280

(c) F=% 276 (d) T & & F3 T
fifian 5 2 ehA-w T g A R SRR
(a) @i (b) Presiia

(c) germ (d) Iuded # & FE T

Tl Aigel Sy 3 Frefofed sl | e
Hif :

1. St

2. woar i

3. =, firfsn =™

4. &, qffen srsar
g%ﬁg%maﬁmwﬁﬁﬁnﬁwﬁ
g |

T
(a) 2, 1,334 (b) 2,3,13R4
(© 1,3,43M2 (d) 1,4,33R2

413 2 e el T &, o B T % (A) A
a@iaam(R)mw%:

wu (A) | o Al e T T At WY
Bt 2

1T (R) : WAd I H GRS H S -3 A
T e o 2 |

#9 fad T e & wdl I IR |

L T4

(a) (A) 3 (R) i & & 721 (R), (A) 1 &&

ATEA] R

(b) (A) 30 (R) &1 & & 0 (R), (A) H wdh
ST T8 A R

(c) (A) & & T (R) Ted @

(d) (A) T R T (R) Fe R
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27. Which region of the country conferred special | 27. WRdia &fyur % 3gedg 371-51 & i %

status under Article 371-J of the Constitution of fora & =t fadiy U wem 6 R ?
India ? @) T
(a) Nagaland 5 :
(b) Hyderabad and Karnataka (b) ;?:
(c) Maharashtra and Gujarat (C) HERTSE HR Torret
(d) Ladakh (d) siggr@
28. Mateh List~ | with List~ Il and select the correct | 28, sft - | %) gl - || & gftra B 7o gt &
anstier from the codes given below the lists : = A e ¥ et IW WA : b
st-| List -1l -1 <l
A Loe) (Property) :%g, g‘,ﬁ,
. Sodium 1. Good conductor o
of electricity g R, 1. &3’;“ STS0T Gt
B. Mercury 2. Liquid at room ’ 2. RS
temperature C. 9fé 3. I H] FEAR
C. Silver 3. Poor conductor of heat D. ®fe1 (f12) 4. =T A HAEE | FRT A
D. Lead 4. Can be easily cut with knife Henal &
Codes : e
A" B ChD A B € D
() 24 WS 4 (@) iy 37 Jgema
(b) 1 4 3 2 by .1 4 3 2
(G): "4 =1 2N qaEna S (N S
@ 4 4 2 3 (d) 4 17 2588
29. Which or:l?e of the following is NOT correctly | 20 fr=feifes & § FH-a1 T qE gafem T8 @ 2
matched =
(a) Fundamental Duties -  PartIVA - (a) 7St weie STV
(b) The States e - garrt X:” (b) U= - ¥MVI .
(c) Attorney General of India - a it
(d) Services under the - PartXIv (© m A LA
Union and States (d) 59 3R TSl % I I - WmXIV .
30. Match List - | with List - Il and select the correct | 30, gt — | = gt - || & Gaftwm Hifve 7o gt $
answer from the codes given below the lists : f=fEAm ETA ¥ & I Eﬁ'ﬂ! .
List - | List - Il g -1 T - Il -
(Substance) (Use) (ware) (3rgsrar)
A. Blue Vitriol 13 Anifuglgl rain A, Hrem o 1. $ﬁq a8t
B. Eosin 2. Fungicide B. 337 2. FHEHATH
C. Silver lodide 3. Red ink C. Rie amieRE 3. W |
D. Zinc phosphide 4. Rodenticide D. fir hewmge 4. FrwA ()
Codes : 2
A B C D A B D
e T @ 2 3 4 1
(o) 8~ 1 P (b) 20 1 S
(@ 2 3 1 4 () 72 '« iRy
31. ;Nhi;t:,h Aniﬁges?of Indian Constitution are related | 31wy GfRuE ¥ AT-3 e T aﬁ st
o citizenship
(a; Article 3 to 10 §bg Atticle 4 to 11 (a) =BT 37 10 (b) HTEBZ 4@ 11
(c) Article 5 to 11 d) Article 6 to 11 (¢) 3‘3‘3‘ 58 11 (d) 313@& 63 11 '
b
D 6~ h‘!; "

R
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33.

34.

35

36

synthetic
(b) LexEn

(a) Fibroin
Neoprene

Which is the largest ;
parliament ? gest Committee o the Indian

(a) Public Account Commj
( Estimates Committ?en "o

b)
(c) Committee on Public U .
(d) Committee on PetitiOns"dertakmgs

According to the Repo
in December 2019 o,‘: -guft:izzfebé:m Aay
Goals India Index 2019-20’, the Uttar ;elzpmem
grouped under which of the following @ter;‘o::\ ;s
(a) Aspirant

(b) Performer

(c) Front runner

(d) Achiever

Given bel_ow are two statements, one is labelled
as Assertion (A) and the other as Reason (R):
Assertion (A) : The nature of Indian Political
System embodies the elements of ‘continuity and
change’. ’
Reason (R)
contains the elements
system such as the modern
style and saint style.
Select the correct answer from the ¢
below.
Codes : :
(a) Both (A) and (R) are irue and (R) is the
correct explanation of (A)
(b) Both (A) and (R) are frué bu
correct explanation of

(c) (A) is true but (R) 1S false
(d) (A) is false but (R) is trué

i ¢ pradesh
Which of the following cities of Uttar  oment

is/are covered underthe'Heritage iy 2
and Augmentation Yojand (HRIDAY)

1. Varanasi
2. Mathura

3. Prayagraj

4. Ayodhya
Select the correct answé
below.
Codes :
(a) 1 only
(€) 1and 2

. The Indian Political System
of the following political
style, the traditional

odes given

t (R) is not the

@ ?,on,'% and 4

32.

33.

35.

RFL -1
Prrferfad § & 24— )
(c) iy (@) 2w

fta wag 61 wed w9 wfify SH-
(a)aﬁm’namﬁ:;hiﬁﬁ bt
(b) SR wfifa
(c) & 3730 wftfa
(d) e wf

Hife smim g fewwat 2019 # STl HAw
At Wi gEiE 2019-20 T A R & 3FER
mg&mﬁmaﬁﬁéwmﬁﬁm
™a?

(a) Fmhigh (Tedtic)

(b) I eI (THim)

(c) 3mfi (%2 T)

(d) F& st (CEiE)

‘ﬁ?‘aﬁmﬁﬁﬂiz%,ﬁqﬁﬁwﬂmww
Gt 0 (R) FEER :
wmm:mﬂamﬂﬁmmﬂwﬁrﬁ
Eic ol qéqﬁaﬁ#’%aaq&mﬁqﬁaﬁ% I
m(R)zmmﬁ%ﬂsmﬁﬁnm&%
wﬂﬁlﬁiﬁ-mgﬁmﬂaﬁ,mmx%ﬁwﬁa
et & o wTtea 8 |

43 R ™ e & g WA

ﬁ:
(a) (A) 3 (R)z;ﬁ wé & 71 (R), (A) F &l

=Tl Bl
(b) (A) 3R (R) &1 & § @ (R), (A) R &

s Tl T 8
(©) (A)RMWQ(R)Wt
(d) (A)rraa%wr—@(R)ﬂﬁ%

(b) Fad 3
(d) 1,2,33 4
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37.
38.

39.

40.

41.

42.

What can be the minimum strength of Council of
Ministers including Chief Minister in the States ?
(a) 10 (b) 12
(c) 13 (d) 14

What should be Total Fertility Rate (TFR) of a

Population in order to reach
level of fertility ? at the replacement
(b) 1.6

(@) 1.0

(c) 2.1 (d) 2.3

The Supreme Court of India enunciated the doctrine
of “Basic Structure of the Constitution” in

(a) The Golaknath Case in 1967

(b) The Keshavanand Bharati Case in 1973

(c) The Shankari Prasad Case in 1951

(d) The Sajjan Singh Case in 1965

Which of the following methods has/have been
used to estimate poverty in India ?

1. Head Count Ratio

2. Calorie intake

3. Household Consumption Expenditure

4. Per Capita Income

Select the correct answer from the codes given
below.
Codes :
(a) 2and 3
(c) 3 only

(b) 1,2and 3
(d) 1,2, 3and 4

Which one of the following is NOT correctly
matched ?
(a) Article 39 A

|

Equal Justice and free
legal aid

Organisation of Village
Panchayats

Uniform Civil Code
Separation of Judiciary
from Exective

(b) Article 40

(c) Article 44
(d) Article 48

With reference to ‘Ayushman Bharat Yojana' which

of the following statement(s) is/are correct ?

1. This Yojana provides free health insurance
of Rs. five lakh per pe(r:ls.ont.his Gt

enses incurred in

k p:jaenxa‘; is shared between the Centre and
State in 60 : 40 ratio. :

Select the correct answer from the codes given

below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

37.

38.

39.

40.

41.

42,

RFL -
Mﬁg@ﬁﬁ%ﬁﬁﬁﬁﬁﬁuﬁzﬂﬁm
G 1 B gdl 8 7
(a) 10 (b) 12
(c) 13 (d) 14

TS % ST T de g o for e &)
Fo G & (N.06. 3R, ) F1 B =iz 7

(a) 1.0 (b) 1.6

(c) 21 - (d) 2.3

WA & W AT 1 G % SR gi
% fagra =1 = fnar

(a) ey 912 1967 |

(b) FvET= YR 777 1973 8

(c) Tt waE AE 1951 4

(d) w7 fag are 1965 4

urA B Tl % IrE ¥ Preffad ¥ ¥ SH-ar/A |
fatuat = v P 2/2 2

1. fa o fafy
2. Fari ygw
3. uriETies 394 =
4 ufq =afaq am
e @ ™ %2 § v I gfw
fozsm (b) 1,23 3
(c) %9 3 (d) 1,2, 334
frfafd & & SF-a1 & v gafea @i 2 2
(a) 3T=T 39A - TUW = G Fyew
fafis germ
(b) 3qR% 40  — UTH YS! w1 TR
(c) T=8T 44 — G9H AT i z
L (d) 3BT 48 - AW w1 SRR
¥ g

HEHE WRE A F wed § frsferRe & A

HI-H1/8 FUH F B/F 7

1.u3mwhw%whmmwgw
TRy i e wedt R )

2. 39 A § BN 9 o ¥ Sy stk e @
wrfterdl 60 : 40 % 3uTa § Bt 2 |

9 fd ™ e @ v 3w gfi |

%

(a) Fa (b) ¥ae 2

(c) 1 3R 2 8=l (d)y @ 17# 2
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43.

LA

45.

46.

Consider the following statements in
of Attorney General of India : hepu
1 The P{_?sident shall appoint a person who
IS qualified as to be appointed a Ju
Supreme Court. e

2. The Attorn_ey General shall receive such
remuneration as the Parli

ament
determine. o
Select the correct answer using th i
e
e g the codes given
Codes :

(@) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

The main objective of sustainable tourism is
(@) To increase the number of tourists

(b) To manage mass scale tourism and small
scale travel

(c) To manage tourism and environment while
maintaining cultural integrity and ecological
processes

(d) None of the above

Given below are two statements, one is labelled

as Assertion (A) and the other as Reason (R) :

Assertion (A) : Indian federalism is called ‘Quasi-

federal'.

Reason (R) : India has an independent judiciary

with power of Judicial Review.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) s false

(d) (A) is false but (R) is true

With reference to the ‘HAU_SLA -2018' v!?hich of
the following statement(s) is/are correct

; ised by the
‘HAUSLA — 2018’ was organise
1 Ministry of Women and Child Development,

f India in New Delhi. '

2. Ict;vaaes”;\ln;zg:\gl Festival for Children of Child
Care Institution.

Select the correct an
below.
Codes :
(a) 1 only
(c) Both 1 and 2

swer from the codes given

b) 2 only
zd) Neither 1 nor 2

43.

44,

45.

46.

WA % HETARETE) & g # ffiifigs #9A1 ®

ﬁiﬂﬁﬁﬂ:

1. Tsgufa foreft T =afaa ) frafda wom @t
%W%m%mﬁﬁgﬁ%m

1

2. WEIHETE 3o T I Han S §6e
FrayTid #L |

¥ e T we @ wd s g

T2

(a) FacT 1\E R -

(b) et 2 wét 2

(c) 1 3 2 gl wét &

COEGIERES X

Tvh (FRTEe) Tied %1 76 99T §

(a) Wi &1 @ |

(b) &2 T T W 3R Y TN R A F
d-Y Sl

(c) areHiaeh sravear s mifeufos siwmat +1
A1 TEd gQ T4 3R qatate SE ST

(d) I 1 & HIg T

9= ¢ #u= foa m E, ol @ o ) FY9 (A) an

ZHU ) H (R) FE TR

FUA (A) : TR HHTeH SHaE] 1 e -HETeH

gl ST 2 |

FWO (R) : YR § U S@ad AnEdias &

=ty e &1 AR 2 |

4 fd ™ e A @ gl SW g |

E(A)W(R)aﬁﬂﬁgifm(m.wﬁ“ﬁ
SRS FL1 &

(b) (A) 3 (R) gl ®&l & g (R), (A) 1 &l
ST AET Al 2

(c) (A) & & T (R) 7rerd

(d) (A) T @ T (R) & R

BT - 2018 % g | Frafafea # & FR-w/d

o wel /8 7 _

1. "Argel — 2018’ 1 A Higen @@ T
faeTg WATEd, TE §ER g A8 fewet #
fopa T o |

2113@&!%@-1’@?@3@@3?‘%@
&1 TR Ic|d o1 |

$9 fod ™ e & wh I g |
o e (b) ¥t 2
(c) 1 it 2 et (d) Ad 178 2
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48.

49.

50.

51.

Joint sitting of Lok Sabha ang Rajya Sabha can
take place to resolve deadlock over

(a) Ordinary Legislation

(b) Money Bill

(c) Constitutional Amendment Bill

(d) Appropriation Bill

India aims to achieve the 5 trillion dollar

economy by
(a) 2022 (b) 2024
(c) 2026 (d) 2030

Whjch of the following gave legal basis to extra-
ordinary powers exercised by the Government
of India during Lockdown ?

1. Mental Health Care Act, 2017

2. Disaster Management Act, 2005

3. Enemy Property Act, 1968

4. Epidemic Diseases Act, 1897

Select the correct answer from the codes given
below.

Codes :
(@) 1,2and 3 (b) 2,3and 4
(c) 2and 4 (d) 1,3and 4

Human Development Report 1997 introduced
the concept of Human Poverty Index (HPI) but
Human Development Report replaced it with
Multidimensional Poverty Index (MPI) in the

year
(a) 1999 (b) 2005
(c) 2010 (d) 2015

Match List — | with List — Il and select the qorrect
answer using the codes given below the lists :

List - 1| List -1
(Article) (Provisicl:))n)
i . Removal of Deputy
AL 1 Chairman of Rajya
Sabha
B. Article 67(b) 2. Impeachment of
President
C. Atticle 94 3. Removal of Vice-
President
D. Article 90 4. Removal of Speaker
Codes :
A B c D
(a) 2 4 3 1
(b) 3 2 4 1
(c) 2 3 4 1
(d) 4 1 3 2

-10-

47.

48.

49.

50.

51.

RFL - ! I

ﬁcr%ﬁgaﬁéﬁmqwﬁﬁuqﬁ%gmm
3R TS quT Y T 93 & Gehl @ 7

(a) ¥ fagaes

(b) &7 fataes

(c) Tautfies gy fagas

(d) fafe=m fadaes

R 5 feferam sror srefeaen 1 @151 9 7% Wy
T O H GET TGI8 ?
(a) 2022
(c) 2026

(b) 2024

(d) 2030 _,
3

ARSI & R VT TR o ZRT T TR

et 1 fafe smam Fefafea § 9 5 s

q 9T 7T 7

1. W €o¥ R UFE, 2017

2. fEameet f99we wae, 2005

3. vi-mwfy a1 ufreft wodt wre, 1968

-4. Ufysfis fasfisa wae, 1897

e 2 T g @ wd IR g |

% :

(@) 1,23k 3 (b) 2,33% 4
(c) 23R 4 (d) 1,334

e T gEe (T d.31E.) i srEyRe aEe
forera featé 1997 4 weqa =AY, SifteT THe s
R 3 58 wgsmanh et qeenie (o, @37, ) grr

frefefan & & form o o wfowenfia v far 2

(a) 1999 (b) 2005 -

(c) 2010 (d) 2015 |

et — | gt - 1 @ gt A qo gl

H= @ ™ 52 ¥ 9é sw g -
Tt - | -1l

A_a(wgﬁaey 1. U9 YT & IJY-THT9y

Ealrar|

B. 318 67(@) 2. Ul qT waiwm

C. =BT 94 3. Iqusgafe =) gem j

D. #FeE90 4. THH F gem |

%2 (
A B ¢ D _'

(a) b 4 4 3 1 1

(b) 3 2 4 1 ;

(c) 2. 3° 4 1 ;

(d) 4 1 3 2 ‘



on
LS )

53.

54.

%

Given below are two stat
4 eme !
as Assertion (A) and other asn't:,e,: Ne s labelled
3 ; son )
assertion (A) : Government e (R):
'National Infrastructure Pipeline (N aulnched the
of 2020-30. (NIPY for periog

Reason (R) : The objective of NIP

gquitable access to infrastructure f is to provide

S h ora
elect the correct answer using t Ih. :
d the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

On which of the following dates, Constituent
Assembly of India adopted the National Flag ?

(a) 22 January, 1950
(b) 24 January, 1950
(c) 22 July, 1947
(d) 22 July, 1948

With reference to the World Bank's Ease.of
Doing Business Report, which of the following
statement(s) is/aré correct ?
1. In Ease of Doing Business Rreport 2020,
ia’ is 63. _ .
2. ll:(cjjli: srar:l:‘i‘r:gsfor Ease of Doing Business In
the year 2019 was 77.

i iven
Select the correct answer using the codes 9
below.
Codes :
. 2 only
e i 1 nor 2
(C)) Bothy1 and 2 (d) Neither
Bio-technology
In which of the following p':l’a:t;se :‘:16
in Uttar Pr _
Par;s located M8 Ghazlabad
(@) Kanpur I
(c) NOIFI))A (d) Luckn

pond
g corporaté
OUtstan:tjtrt‘gln Union Budget

esed upto
(o) 10%
(¢) 15%

Limit of investment for
for Foreign Portfolio
2020-21 has been Xt
(a) 9%

(€) 12%

A1-

RFL -1

52. 19 3 Fym fd R ¢, forel & o =1 FA (A) A0

TER I F (R) FE TR

T (A) ;T glaET AETeE (G.EAL)’

TR gRT 2020-30 #i 3@ty & fow smen e

TR

HO (R) : T, 377,61, 1 Iewd @t 1 WHE ¢ T

gfawn s s 2 |

12 A ™ %2 ¥ wd IW I

Fe:

(a) (A) 7T (R) 2F & & 37 (R), (A) 1wl
ST HT B

(b) (A) T (R) g1 @ & 7T (R), (A) ! =&
e TE Bl 8

(€) (A) & 2 T (R) TTerd

(d) (A) e & T (R) FE @

53, 'mﬁéﬁmwiﬁnﬁhﬂﬁ-éﬁm%ﬁx@
QT S &1 AR ?
{(a) 22 57¥al, 1950
(b) 24 5=, 1950
(c) 22 ITTE, 1947
(d) 22 I, 1948
so e & A E o g e R ¥ e
Pt et i & Fn-w/A o v B8 7
1 £ it g fara R 2020 % ¥
paal v # | g
o =§ 2019 # &9 3T g feE A ¥R
77 &f ©IE o1 1
43 o T e & W eI |
(a) e 1 (b) s 2
() 1 3 28R (@ AR|1TA2
85, mmﬁa@-éﬁa@ﬁﬁmﬁ«rﬁﬁmﬁ
Jwe e ?
(a) FAL (b) .
(c)m (d) T@H -
e 2020-21 3 T IFE FE &S F
o0 e 1 ¥ A
(a) 9% T (b) 10% @
(€) 12% 7% (d) 15% T




fars

57.

58.

59.

60.

61.

The Development, Monitoring and Evaluation
Office, which monitors the progress of long term
policies in an attached office under

(@) Prime Minister Office

(b) Ministry of Home Affairs

(c) Cabinet Secretariat

(d) NITI Aayog

Match List - | with List - Il and select the correct
answer from the codes given below the lists :

List — | List -l
(Scheme) (Launching Year)
A. P. M. Jan Arogya Abhiyan 1. 2015
B. P. M. Vaya Vandan Yojana 2. 2018
C. P. M. Rojgar Protsahan 3. 2017
Yojana
D. Swachh Bharat Abhiyan 4. 2014
Codes :
A B C D
@ 2 3 1 4
(b) 1 2 3 4
(c) 2 3 4 1
(d) 2 4 .3 W

Which of the following statements is NOT correct
for National Pension Scheme for Retail Traders/
Shopkeepers and Self-employed persons ?

(a) Those who are in age groups of 18 to 40
years are eligible.

(b) Their annual turnover should not exceed
1.5 crore rupees.

(c) National Pension Scheme’s member are
also eligible.

(d) It has a monthly minimum assured pension

of Rs. 3000.00.

With reference to the programme “NIDHI” which
of the following statement(s) is/are correct ?

1. The programme of “NIDHI” was started for
students to begin start ups.

2 Its aim is to financially support 20 students
for start up in each year.

Select the correct answer from the codes given

below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

The concept of ‘Ecological Transition’ was first
used by
(a) Elton
(c) Berkeley

(b) Bennett
(d) Ratzel

12-

57.

58.

59.

60.

61.

RFL-|

ferhra, sreftenr 3R qewie wrTed S EeHie E

fifs =1 s ww 2, Fefaled 7 & fag
FTEE & Fd AT 8 ?

(a)wm'sﬂamfaa
(b) & HATEA
(c) Afmvsd qfaed
(d) e Fmm
get - | gt - 11| gafa e ao gl %
et - | e -l
() (TR =)
A ft.u. 57 ImE AREE 1. 2015
B. ft.un. 59 dg7 99 2. 2018
C. fi.un. o uiewmes w1 3. 2017
D. &=® i AfmE 4. 2014
He:

A B RGED
@. 2 LN
(B) den 325 Nibe s
(€). 2 ~S3ENAlust
@ 2004 - 31
frrferfiaa 3§ @ -1 Fe geu saiEl /gehrer
IR WUSTRETS SafFaEl & foe usfia M Qe
% TR | wel T R 2

(a) 18 & 40 9§ 7Y =1 & 1T 39 U § |

(b) I AT T~ (THaTaR) T 1.5 g
dafmaa

(c) TS U9 AT F HeHd 3% I R |

(d) 9% FF=TTd F9AT 3000.00 T HfdH Jor
g 2 |

it wEEn & o # fre A 4 S-m/A s

wé 2/8 7

1. vRfe wrishn ool % fom wré s ¥g o
fPmmma -

2. THHI IL¥A 20 BT F W 39 g Whad
forfta wEm FE R |

A ™ g2 ¥ v Iw ghe |

T

(a) ae 1 (b) ¥aw 2

(c) 1 3R 22t (d) AR 17 2

aricfeafeehl dehmor sraymon w1 wEwyw = R
™

(a) Teed g
(c) THhat g

(b) ¥ R
(d) W& g

ot i A

Ot —

e



2

6.

64

85.

) Generally, environment can

Which one of the f°"OWing is NOT

gas found naturally in the at sphea green house
(a) Nitrogen oxide (b) Carbo:;e;o .
(c) Methane (d) Ozone Xide

: ; - €an be clagsifi
following categories. Wh led as
is NOT a part of such Cag;zx??ng the following
(a) Operational Environment
(b) Physical Environment
(c
(d

Cultural Environment
Biological Environment

)
)

Given below are two statements, one is labelled

as Assertion (A) and other as Reason (R):
Assertion (A) : The Union Budget 2020-21
has focused on Rural Development with aim of
doubling farmer income.
Reason (R) : The 16 Action points announced
in the budget is centred around agriculture,
irigation and rural development.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the

correct explanation of (A)
(b) Both (A) and (R) are true but (R) 15 not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Which of the following are the impacts of Global
Warming ?

1. Rise in sea level

2. Melting of glaciers

3. Spread of disease‘s .

4. Bleaching of Coral reé iven
Select the cc?rrect answer using the codes 9
below.

Codes : |

\d) 1, 2 and 3 only (b) 2 andssazgi

(¢) 1, 3and 4 only ) 11k 1o

4 ndex

Ihe Travel and Tourism Compemwe !

'S released by

(3) World Bank d

) International Monetary Fun

(©) World Economic FOUM __ + prograMm®
%) Uniteq Nations DeveloP

43-

62,

63.

65.

'(c)m1,33ﬁ(4

RFL -1

Fraferfies # 3 -

ﬁvﬁaﬁmmﬁmmmgfﬁm

(a) TG oTEEE  (b) w SriEEE
fird (d) ==

HHTITET gt S fr wen & arffea e

w1 R | Prafefis § @ P-w o @ fiwm

IR 7

(a) TiETeR qaigw

(b)m_ﬁasqqsamm

(©)

(d)mwhm

H9 Q Hom fed w2 §, ol 3w ) A (A) T

TR F (R) 8 @ :

T (A) - 5 wwe 2020-21 4 HiY Y 3 T

F & wged H @y 7 [GEE W S Hsd

TR a2

FRO(R) - 9o difva 16 g Frdmn P, =

o1 ety e % wgfee s 2 |

#3 T2 T g2 A T I 1 74 T |

2

(2) (A) @ (R) 2 @ & 7 (R), (A) Ht 7
T H

(b) (A) @1 (R) &1 aea & oG (R), (A) 1 =
e TE Bl @

(c) (A) T & T (R) e @
() (A) T @ TG (R) & R

ﬁmﬁﬁm—mmm(@wm)
1 AE B 7

o o e 8 A e A

w2
s3 (b) Fa@ 233
a) ¥ L2 @ 1,2, 33K 4



o

67. Arrange the following events in chronological
order and select the correct answer from the
codes given below :

|. Rio Earth Summit

Il. Publication of Brundtland Commission Report
lll. Enforcement of Montreal Protocol
IV. Publication of ‘The Limit to Growth' Report

Codes :
(@ 1, Iv, 1, n (b) IV, 11, 11, 1
(c) IV, 1, n, 1 (d) IV, 1,10, 1

68. Consider the following events and arrange them
In chronological order :

1. Establishment of NABARD

2. Self Help Group Bank Linkage Programme
3. Kisan Credit Card Plan

4. Establishment of Regional Rural Bank
Select the correct answer from the codes given

below.

Codes :

(a)4,1,2 .3 (b) 4,2,3,1
() 1,2,3, 4 (d) 4,3,2,1

69. The National Chambal Sanctuary does NOT fall
in which of the following States ?
(a) Uttar Pradesh (b) Madhya Pradesh
(c) Haryana (d) Rajasthan

70. With reference to the Skill India Campaign, which
of the following statement(s) is/are correct ?
1. Prime Minister had launched the Skill India
Campaign in July 2015.
2. The main objective of this Campaign
was to train India’'s Youths in information

technology.
Select the correct answer from the codes given
below.
Codes :
(a) 1 only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor 2

PO et

-~ 71 National CleanAir Programme has been launched
by the Central Government in the year

(a) 2018 (b) 2017

(c) 2020 (d) 2019

72. The rulers of which of the following dynasty have
been called as ‘Shriparvatiya’ in Puranas ?
(a) Vakatakas (b) lkshvakus
(c) Shaks (d) Kharvelas

67.

68.

69.

70.

15

72.

T dehTen | i e o
F= fed & g2 & wd I g |
Fe .
(@) %1 (b) et 2
-(c) 1 3R 2 gt COEREES )
TS T 91y FRIHH g GR g ey ad i
mmﬁmn:g% ?
(a) 2018 (b) 2017
(c) 2020 (d) 2019

frfaftaa gematt #t
Hifre 7or A2 A ™ w2 § T IW IMAT |
|. feat gesft fire wweier

I, seavg 37anT fare &1 WA

I, Wif=ATe Siethier ®1 Jaaq

V. g fafte g Tter fdté 1 Sehree

(b) IV, I, 1L, |
(d) IV, 1, 1, 1

%
@) 1, IV, 111, 11
() IV, Il 11, |

frfafad gematt = fem e ok 377
FICTHATIAR FFafedd HfAT :

1. TTaTE T TG

2. T WETEA] g i S [oTehs TR
3. foram shfee @1 A

4. &fra grfior S 1 ey

dr fod 7 e @ @ In g |
F2:

@ 4,1,2,3 (b) 4,2 3,1
(€)1,23,4 (d) 4,3,2,1

T =res Fvaneg frefetea 3 @ e asg #
e i @ ¢
(a) IT weu
(c) giEmm .

R WRG A % we § Frefiiea 3 & SR-a/A
YT wA /R 7
1. heet R @™ i yRsma sy 3
I 20159 & &ff |
2. 39 M 1 qE1 3 9RA % el

(b) weA SR
(d) T

frfafea & & frm dw & s = qooi &
‘fieldta g mn & 2
(b) 3EaTH !

(c) T

w9 sty

(a) arhiesh
(d) @ma®

77



75.

76.

7

Which of the following Commi RFI‘.-{:-i"
a poverty line based on R?;gees recommended :
exclusively ? onal requirements 73. frafafes sfifedi 8 @ e o Gws-amt 6
(a) Alagh Committee SR o SUR T e v 5 o e @ 2
(b) Lakdawala Committee (a) 3w afifa
(c) Tendulkar Committee (b) FergaTen Fwfa
(d) Rangarajan Committee (© aia%'( gfufa
(d) TR wfafd
The official ‘Agronomai’ during M
a X . -~
iated wilhwhici ot ngn furyan age was | 74. W @ § g sl Fraffen 3 s
. g field ? &7 4 grafiE 9 7
(a) Weight and measurement
A (a) w9 3R AA
(b) Administrative management (b) SITE FEE
(c) Construction of roads (c) wm s
(d) Revenue management (d) TR EE
Which of the following indicators is NOT used to | 75. F=fefaa gamishi 5 @ HA-T1 7 T g
calculate Human Development Index (HDI) ? (g £ =78.) = TR A wieifere @ foman ST B 7
(a) Life Expectancy (a) Siig eI
(b) Education (b) Fre
(c) Per Capita Income (c) wia = 34
(d) Social Inequality (d) T ST
Match List - | with List - Il and select ine correct | 6. g -1 RgR - ghfera Hfsre o g &
answer using the codes given below the lists : # B T e @ 5 W g ;
List -1 List- 1l - | ah -l
(Mahajanpadas) (Capitals) (WETIg) :mm )
A. Matsya 1. Mathura A 7 - 2- et
2. Potan B. 3% ;
B. Kuru C. ,@q 3. faea
C. Sursena 3. Virat Nag::a D. FTH 4. T
S
D. Asmak 4. |ndrapra —
Codes : A - B G -ER
Ve &85 D @ 4 2 1 2
() & 2 ST 0 3 1
) 1 2
(b) 3h 1 . 8. (RN e,
()l W 1 ? @ 2 3
@ 2) 3 4. , WA
given by 77, 7t 8 gy BT
' was
The idea of ‘Cultural poverty WA (@) et ng &
(3 0 : (b) AR forse &
) Oscar Lewis o & g
(b) Gunnar Myrdal (©) Pu—
( : (d) e
C) Aashish Bosé
-15-

(d) Amartya Sen




% RFL -

78.  Given below are two statements, one is labelled

78. g *uq fe M E, ﬁm@ﬁmm

as Assertion (A) and the other as Reason (R) :
Assertion (A) : We have much more information
about Cholas than their predecessors.

Reason (R) : The Chola rulers adopted the
practice of having inscriptions written on the walls
of temples giving a historical narrative of their

THL 1 H (R) FHE T 2 .
o (A) : & el % o § 3% e T
&1 e Jrfie IR R | !
m(R):iﬁammﬁﬁﬁféﬁﬁﬂaﬁWM;
Iehvl 3 T Fod wrew T o ST et

Viclotiee % Ufeariren feraor fod o & |

Select the correct answer from th des given ;
below. e L Ao 3 T e & @ W IR b owE G |
Codes : %: s

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(€) (A) is true but (R) is false
(d) (A) is false but (R) is true

(a) (A) 37 (R) H &t & 211 (R), (A) I @&l
AT FAT 8

b) (A) 3R (R) &H1 @l & T (R), (A) I &&l
T TH T 8

(c) (A) & ® T (R) Teid 8

(d) (A) TeId & 7 (R) et 8

|
i
4

79. During the mid 80’s decade of twentieth century, | 79.  siudi &él & et  evish % 923 T % THES
the negative aspects of development were usil R forear @ ==l 1 wh | el 4 @ S9-a
discussed at large. Which one among the ~
following was NOT such important ? G W =r€f ol
(a) Degradation of natural resources (@) Wﬁﬁ HEIYHT 1 &

(b) Environment pollution ORREUR L
(c) Politics and Development (c) Tarifa wa faerrg
(d) Displacement and Rehabilitation of masses (d) ST %1 faeaTea vl gt
80. Which of the following Indian Archaeologists first | 80. frm=fafad # & form W™ qawamn 3 waeht

visited ‘Bhimbetka Caves’ and discovered prehistoric
significance of its rock paintings ?
(a) Madho Swaroop Vatsa

(b) H.D. Sankalia (b) T2, b
(c) V.S. Wakankar (c) F.mm. ;
(d) V.N. Mishra (d) .. o

81. Thediscussion on ‘Sustainable Development was
started after submitting a report on environment
to the United Nation in 1987. That report was

(a) First Report on Climate Change pe— Sl Hﬁa?ﬁ
(b) Our Common Future e

(c) Second Report on Climate Change (c) e Sifiwii - e
(d) Fifth Assessment Report () it Heare wRAg

81.

T ‘ffwde® THE H g@l IR IgF A« F
wTAftETee HE H @ ?

(a) W TEEY T

af 1987 # WYF U A wiwl ¥ weafm ws
wfdagd &1 wgfd & 390 iy frem (@¥ew
SaeuHve) W=l A gE) 98 whded o




Match List — I with List || gng sel

0

83

84.

85

answer using the codes given belzit t:: $0rrect
List-1 List- |y Ists :
(Harappan Site) (UT/State of Ingjq
A Balg 1. Uttar Pradesh ;
B. Manda 2. Jammu and Kashmir
C. Padri 2 Haryana
D. Hulas 4. Gujarat
Codes :
A B C D
(@ 3 2 1 4
(b) 2 3 4 1
(c) 2 4 3 1
(d) 3 2 4 1

No. of cities in U.P. which are covered under the
‘Smart City’ Scheme
(a) 10
(c) 15

(b) 12
(d) 18

Consider the following statements and select the

correct answer using the codes given below :

1 The Sun temple of Multan is mentioned
by Hiuen Tsang, Abuzaiyid, Al-Masudi and
Alberuni.

2. The pilgrimage to Sambapur was
associated with Sun worship.

Codes :

(a) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2 are correct

(d) Neither 1 nor 2 is correct

The Atal Innovation Mission (AIM) is 8 Ryt
nitiative set up by

(a) Ministry of Human R
(b) NITI Aayog

(¢) Ministry of Social Justic
Ministry of Science and

asource Development

TechﬂO'OQy

ntative Of
9 ofthe following was Set g ret:;esv:ashing“’"
“ourers by Indian Govemmeﬂtl
“Mmit of |0, in the y€ar 1618 ghi
23) VP, Wadia (b) 42
“) CF Andrews

82.

83.

85.

86.

RFL-1

f - H - a0 aun afi
:ﬁ%ﬁaﬂaﬁﬁﬂﬂ%: "
et - | gefi- 1l
(ETqOwE)  (HE T/ AR % 1)
A. a1 1. I
C. st 3. ghamn
D. g™ 4, A
F2:
&g S UCNED
(@) 28 2 Sl 4
(b) 22 3yl SRS
(c) 2 4 3 1
(Ayva e e, ia
33, % gt o v e o <o & s @
(a) 10 (b) 12
(c) 15 (d) 18
frefafes s w REr fifig g i fd
e @ w9 I AT
1.m%@@uﬁtm3ﬁam,m,
Fengd au Feawd 3 R |
2. g AEeEd G & HeEfT o |
%
(a) e 188 2
(b) Fae 2 W &
(c) 1 3 2 3Fi wl &
PECRER AR
1o e fre (g3, o favm it e
AR
(a) T HETE faTE HEEE
(b) Afe T
(c) AT T T el HAre
(d)ﬁﬁﬁﬁﬁﬂﬁm
Wi wEhR g 1919 | .U, F i
gﬁmﬁn@muﬁﬁﬁ%mﬁﬁn&vﬂtﬁﬂ
& ford S T o 7
(a) Aot afE (b) T, Sl
(c) €0, T (d) A% dufew




s

87.

88.

89

90.

91.

The book ‘Silent Spring’ published in 1962 which
set the tone for an environmental movement in
the world, was written by

(a) Carolyn Merchant (b) Karl Marx

(c) Rachel Carson (d) Rajgopalan

With reference to the Treaty of “Aix-la-Chapelle

— 1748” which of the following statements is/are
correct ?

1. The | Ca(natic War was ended.
2. The English got back Madras.

Select the correct answer using the codes given
below.

Codes :
(a) 1 only

b) 2 onl
(c) Both1 and 2 o) 4

(d) Neither 1 nor 2

Which one among the following is NOT covered under
Integrated Child Development Programme ?

(a) Supplementary Nutrition

(b) Immunization

(c) Nutrition and Health Education

(d) Family Planning

Match List — | with List - Il and select the correct
answer using the codes given below the lists :

List -1 List - ||
A. Indian Arm Act 1. 1876
B. Royal Title Act 2. 1878
C. Indian High Court Act 3. 1869
D. Indian Divorce Act 4. 1861
Codes :
A B (o4 D
(a) 2 3 1 4
(b) 3 1 2 4
(c) 1 2 3 4
(d 2 1 4 3

Match List — | with List - I| and select the correct
answer using the codes given below the lists :

List - | List -1l

A. Indus Valley 1. Pastoral
Civilization .

B. Later Yedic 2. Land Lordism
Society . .

C. Rigvedic Society 3. Agrarian

D. Medieval Period 4. Urban

Codes :
A

(a) 4

(b) 2

(c) 3

(d) 4

“aldwD
NNWw-aDO

Wbhanm

-18-

87.

88.

89.

90.

91.

4

:
RF%I

62 i e W T e g
(a) e e (b) et AT
(c) Yo HrE (d) TSI

“Ygg-wn-viE — 1748" H U F wef
e o 18 a-an/2 e 4

1. 5oW iesh 3§ it gafd |

2. 3T 1 7ETE H: ST §A |

3 22 T g @ @ I IR |
3%1 _ (b) ¥ 2
(c) 137 2 2F (d) FA 1542
wﬁamﬁmmw%mﬁq%ﬁa[
ﬁﬁﬁw&@ﬁ%ﬁﬂﬁﬁ?
(a)
(b)%(;ww
(c) o g ware Ra
(d) 9iEm e
~ | 91 g3ft — 11 & gk Fifvre aur afel
gﬁﬁgﬁwmﬂﬁq:
=1 =1
A.‘-TR?ﬁ?Waﬁﬁm 1.‘{1‘13‘76 b
B. 3MEt ug arfufay 2. 1878
C. WRd 3= =e™ IffRm - 3. 1869
D. wRdt faare faede sfufem 4. 1861
e
A B C »D
(@ 2 A& JIE
(o) 3 A eI g ”
© 1. 25 0y J
7. T Bl )
gt - | gt - 11 @ gAfra it qa ¥
ﬁﬁ&m)yﬁaﬂmgﬁn: o
e - | Tt - 11
A. Ty arét gy 1. |RTTTE
B. 3W e qurw 2. Sffert
C. Hafewh T - 3. FY%
D. H&Y WIe 4. Ty
*e
A B JCiub
(a) 4~ . N3 q
(N2 si1s. 4. .3
fe}3 4 1. 9
J0)d= FTe g
|




who had merged Sikkim i
¥ a) Lord Hastings N India 7

ib) Lord William Bentinek
(c) Lord Dalhousie
d) Lord Auckland

Kanpur and Lucknow gitj

W cities as per the censﬂgegf%gi.:ibecame o
(a) 1951 and 1961 réspectively L

b) 1961 and 1971 respectively

) 1971 and 1981 respectively

) 1981 and 1991 respectively

(C
l’\d

94 Who among the following leaders did NOT

participated in the Second R
Conference ? LA

(a) M.K. Gandhi

(b) Sarojini Naidu

(c) Pt. Madan Mohan Malviya
(d) Dr. Rajendra Prasad

05. Match List — | with List — || and select the correct
answer using the codes given below the lists :

List - | List = Il
A. Jajmani 1. North India
B. Bara Balute 2. Karnataka
C. Mirasi 3., Maharashtra
D. Adade 4. Tamil Nadu
Codes :

A BN D
(a) 1 2 3 4
()1 3  J2INES
(c) 1 4 2 3
(d)1 3 L dE

o X ect the correct
. Match List — | with List =1 a"g Eeellow the lists :

answer using the codes give

(e N List-1l
(Book) (g 18
A The Story of My 'S“'Z':f;e
‘ ory Ban
Deportation Maulana Abu
o ol 2 ad
). Gita Rahasya Ka|amAztRai
la Lajp@
C. ANation in Making 3' lé:ﬂ Gangadha"
0. India Wins Freedom " Tilak
Codes :
A B C g
@) 3 4 1 3
0 4 & 1 3
‘jc) 2 4 1 A49-
d) 4 3 2 1 "

92.

93.

94.

95,

96.

RFL -1

Rafrm 97 s
(b) ¥ faferm dfs

(c) W€ Terht

(d) 7€ v

I MW F FAR 3N TGS TR fhe e
ST 9 # 2w e TR ey 2

(a) shust: 1051 3 1981 &

(b) 3me1: 1061 3 1971 #

(c) Fwe1: 1971 3R 1981 #

(d) shusT: 1981 37 1991

Frefefea Jarafl @ @ #53 R Tomw wee §
wm T form e 2
(a) U= . T
(b) Fft g
(o) e weT Aiga wiwEid -
(d) =F. T, vaTE
T - | A w1 & gt R e g &
fr fad 52 @ vl S gR

gft-1 gt -l

A. SEHE! 1. T WA

B. T e 2, e

c. fafd 3. HERT

D. 3R 4, afeerTg
Fe:

A it D
el wRNNG
b1 3 2 4
()1 4 DS
@1 3 4 2
_|aaq\eh-nﬂgﬁmahquﬁﬁ%
I:g T g @ F@ IR I

'ﬂ!ﬁ" |

g |2
g 3 ¢
i, 2 1 18
(g2 gt g
s 2



ke

97.

98.

99.

100.

101.

102.

The concept of ‘Marginal Man' was propounded by

(a) Robert E. Park  (b) Robert Redfield

(c) Louis Wirth (d) Louis Dumont

Who among the following established a modem
armoury in Dindigal Mysore in 1755 ?

(@) Nanjraj (b) Haider Ali

(c) Devraj (d) Chikka Krishnaraj

Which one of the following is NOT a major cause
of Wildlife Extinction ?

(a) Loss of natural habitat

(b) To make fire in the forest

(c) lllegal commercial trade of wildlife

(d) Fast pace of population growth

Given belpw are two statements, one is labelled
as Assertion (A) and the other as Reason (R):
Assertion (A) : The British Government

introduced different land revenue system in
different part of India.

Reason (R) : It led to create different classes in

Indian peasantry.

Select the correct answer from the codes given

below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) i§ false

(d) (A) is false but (R) is true

In August, 2020 Railway Museum in India was
dedicated to the nation at which of the following

laces ?
(pa) Hubballi (b) Mysore
(c) Silvasa (d) Chittaranjan

Consider the following text and arrange them in

chronological order : '
1. Fatawa-i- Jahandari

2. Prithviraja-Raso

3. Kitab-ul-Hind

4. Tabagat-i-Nasiri . !
Select the correct answer from the codes given
below.

Codes :
(a) 2' 3'4‘1 (b) 3,1v2|4
(c) 4,312 (d) 3,2, 4,1

97.

98.

99.

100.

101.

102.

-20-

e e s (A A) A H &
wfeares fepan
(b) Te tehiee

(a)ﬁi’i"é.q@

(c) T o (d) ¢ e
e & @ #1755 § e A & w
Sy e ) T i o ?

(a) T (b) & el

(c) SIS (d) foaer For=

frefifiad § @ FH-91 T SANOR1 S fagedism
%1 q@ H TE 2 ?

(a) TTFRH JTETE H T T

(b) SiTel! # ST T AT

(c) S=ISTORiT <1 Fray SRR SR

(d) e <t s gfs

3 @ wu7 R 7 &, Rl w I B (A)

TEL Y BRI (R) Fal TR

F (A) : farfesr Tverm 3 wiva % srewT-arem wmit

# - Sl S-S FaedT AR H ot |

Em(n):svéwmﬁmﬁﬁw-maﬁﬂ
|

= fe2l ™ g2 § @ v I g |

e

(a) (A) 3 (R) 3FT 5 & 3l (R), (A) H 7
ST FAT 8 ,

(b) (A) 3R (R) i &t & vt (R), (A) I &&
ST & T B

{c) (A) ¥&l R g (R) Tera &

(d) (A) 7T B W (R) &t ?

WRA # 3T, 2020 # Frfifea wort § 4w
miammugﬁmﬁa%mm?

(a) (b)

(c) (d) ggﬁq

Frfefea ool o fmn i
: IR 3t e spremmETER

1. Bai-V-Elerd

2. g - T

3. ferama-3e-fame

4, qEHTa-Q-TRd)

49 A ™ 52 A wét o Thu |

Fe:

(@) 2,3,4,1 (b) 3,1,2 4

(c) 4,3,1,2 A0) 3,2 4 1
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07,

0

: \which among the following

F ation to launch the Mars Missionm;Te first Arab
) Saudi Arabia uly, 2020 7
(b) Kuwait
(©) United Arab Emirates
(d) Qatar

Who was the ruler of Golkonda when Ay
seized the fort of Golkonda in 1687 7

(a) Abul Hasan Qutb Shah

(b) Sikandar Adil Shah

(c) Ali Adil Shah I

(d) Shayasta Khan

rangzeb

105. Which of the following neighbouring countries of

India has banned free internet for social media
in July, 2020 ?

(a) Nepal (b) Bhutan

(c) Myanmar (d) Bangladesh

Which of the following statement/s is/are correct ?

1. Akbar tried to fix the age of mariiage for
boys and girls. 4

2. Akbar gave freedom to girls to marry &t their
own will and not under parental pressure-

Select the correct answer using the codes gt
below.

Codes :

(a) Only 1 (b) Only2

i r2
(c) Both 1 and 2 (d) Neither 10

pout ‘India
Which of the following Statement/: '?a

Ideas Summit, 2020’ is/are corr:i(; Business

1. It was organised by USd’ m,y 2020.
Council virtually on 22 ¢ 'Ju 's 'Erﬂf"""'eﬁng

2. The theme of the Summi e

RFL -1

103. e, 2020 % fferien & @ H-an fret fugm

104,

105.

106.

107.

India’, codes given
Select the correct answer from
below.
c°des e |
(a) 1 only (b) 2 onl¥ 01 nor 2
(C Nelthe _21-
) Both 1 and 2 d)

(a) ¥t anw e
(b) 7

(c) 997 3w anfivg

(d) =R

1687 # 5@ i 4 et fa R
o, S0 v Tiegver @ e S o ?

(a) 319 TG T W

(b) fawey anfem wme

(c) et anfest wmg 1t

(d) TR @M

WRE % friforfia geiedt 2l # ¢ forem e, 2020
% ¥ e fog g grede da R SR
7 7
(a) T

(c) THR

(b) g™
(d) ST

Praferfiad wel § @ SF-T/A T 2/8 7

1. FFat I TeHl AN agiEal & 998 H A
Fruffe &@ % s fo o |

2. 3R 3 el S ARHIEH! % T § e
w6 7o @ faar F9 @ d @

43 3 A g F W R EE I IR |

w2

(a)m1

(c)13ﬂ'(2$:ﬁ

sefean afitie, 2020° % Wy # Frefeifiaa
A eI IRd SR YRS G g
22 s, 2020 F I 7 T
o e Ci)) T <1 Wil ATl
:ﬁaﬁazﬁyﬂﬂﬂmﬁﬁq |
#He
(s) ¥
(@ 1% 23

(b) Had 2
@ TFM1T@2

(b) %a 2
d) AdM1TE 2



108. Match List— | with List— Il and select the correct | 108. &S = | 1 st — I & gfera g o

answer using the codes given below the lists : 2 fd m T ¥ Fdl IW L2l 3{3“1 ‘ 1
List ~ | List- 1l gt - | T -1l ,
(Officer) (Assign Duty) (afererdt) (Rafeer i) '

o et ukaetcts |y g e

; intained a proper 5 2. w@ et g B R

list of main events g : ‘
and firmans v W

C. Mushrif 3. Look after the Jagir C. qali / 3. SR & e H @
and Salaries D i 4. TG &I -

D. Vakianvis 4. Examine the income- e &=
expenditure of State A

Codes : e

A B cC D A B Cc D

(@ 2 4 1 3 (@) 2 4 1 3

(b) 3 4 1 2 Ab) 3 4 1 2

(e} 1" T2 (@, 190 TR

(d) 4 1 2 3 (d) 4 1 2 3

109. The Uttar Pradesh Cabinet has approved on 26" | 100, g wiw sfsmvest ¥ 29 e, 2020 i fFmifefen

July, 2020 to establish a National Law University at i & & fored Tdta fafy favafererg 1 v
which of the following cities ? &1 e T 27 :
(a) Kanpur (b) Lucknow (a) FALR (b) TETS
(c) Gorakhpur (d) Prayagraj () TREX (d) TR
110. Which of the following lé':lci)ll correctl’y\ matched ? | 110, Pr=fefga § & sH-91 98 g‘ﬂﬁﬂa TR ?
(a) Shaikh Moinuddin Chis - jmer
(b) Shaikh Burhanuddin A R (a) 9@ TEFEA Favedt - 3R
Gharib - aulataba . N
(c) Shaikh Mohammad (b) I FEFEH drererTae
Hussaini 2. - Gulbarga (c) ¥r@ Hrgee gé - T
d) Shaikh Nizamuddin
& Auliya - Muiltan _(d) 9@ Fremgda aiferRn - oA
4111 Indian Minister of Youth Affairs and Sports 111. WRA & a1 Hwn 3R T ﬁa‘ﬁ 25 9&T8, 2020
" announced on 25! July, 2020 thatin 2021 fourth = dron fran @ fo ad 2021 @ <ften @ ¢
‘Khelo India Youth Games' will be hosted by gy e Y Awr e sSrRem
(a) Haryana (b) Uttar Pradesh (a) Ef@on g (b) I WA G
(d) Maharashtra (c) FATeH R (d) TERT g1

(c) Karnataka

112 Which of the following Mughal period canals, was | 112. Frefafed 3 ¥ fra et wref e @ fwbe

constructed by restoring the Rajabwah of Firuz fir wTE 25 g

Shah ? ‘ A (@) #agt AT (?b)ﬁﬁam 0
Shekhnu-Ni (b) Shahab Nahr

((2; Nahr-i-Bihisht (d) Nahr-i-Agra (c) Tee-u-fafewd (d) TER-T-3TT




.

RFL -]
113. Which of the following Indian Football Club | 113, Frafufiga § & 2 e
: a1 AT
became country's first ever football clup to feature R CESE ST — (NASDAQT;M
on NASDAQ billboards in New York's Time Square W
29 Yo, Wb
on 29% July, 2020 7 Wmﬁfﬁmmmm
(a) East Bengal (a) 3R s
(b) Churchill Brothers (b) wfiet s
(c) Mohan Bagan (c) HgT =\
(d) Bengaluru Football Club (d) STeTE FeaTe Fora
114 Who among the following was the author of the | 114. fFrfafea § & 9 R v AT T
book ‘Kitab-i-Nauras’ ? oGS o ?
(a) Ibrahim Adil Shah II (a) sTem anfew e By
(b) Ali Adil Shah (b) et anfeet wig
(¢) Quli Qutab Shah (c) Tft Fge we
(d) Akbar Il (d) sre et

5. The first 'Kisan Rail of India started its journey on | 115. % =1 Teeil e Yo Rrefofan e q Ryl

8" August, 2020 between which of the following % 1= 8 I, 2020 FT A FET IR H 2
two stations ? (a) My 2 T
(a) Ghaziabad and Howrah
(b) Devlali (Maharashtra) and Danapur (Bihar) (b) et m" i qg'“ %m T (fem)
(c) Nasik and New Delhi (c) rféh
(d) Nasik and Ahmedabad (d) T 3R srEHEETE
116.  In which of the following districts of U.P. a major | 116. I ¥eq 'Esﬁq‘hﬁaaﬁaﬁﬁé'ﬁaﬁ 20187 wia
solar power plant was established in collaboration ¥ HEA A T gag R Hul 699w wiia R
with France in 2018 ? TR ?
(a) Agra (b) Ballia (a) 3R (b) wfemn
(c) Deoria (d) Mirzapur (c) <t (d) Fig
117. Which of the following is NOT correctly matched ? | 117, frefifiga & @ ®l-u1 wél gifera 7@ 2 ?)
(Summit) (Place) (TE) (T
(a) EastAsia Summit, 2020 - Singapore (a) $& uftmn wEieM, 2020 - fmR
(b) G-20 Summit, 2019 - Osaka (b) Sf-20 T, 2019 - 3T
(c) G-7 Summit, 2019 - Biarritz ()7 qHeH, 2019 - foanis
(d) East Asia Summit, 2019 - Bangkok (d) e TR FEIGH, 2019 -~ W

e sl i e
118. How many more ‘Ramsar Sites' were added to | 118. el 20209, I N A T

Uttar Pradesh in January, 2020 ? grge ¥ wite fean T t‘.: X

(a) 3 (b) 6 (@) 3 Ed; iy

(c) 9 (d) 12 (c) 9

: - ¥ Rrfufga usal & | fred Sifde-19 safy

119, In which of the following States of India the | 119. WRd

first-ever E-Lok Adalat was started during the o ygel! 4R $-oI%h EId WP g!ﬂ ?

COVID-19 period ? (a) I WH (b) WER

(a) Uttar Pradesh (b) Maharashtra ) (d, faEm

(c) Chhattisgarh (d) Bihar BTG




i

120.

1241

122.

123.

124.

125.

Which of the following tribes is NOT the native to the
Andaman and Nicobar Islands of India ?

(a) Halchu
(c) Onge

(b) Rengma
(d) Shompen

\(/:Vnh reference to the detailed report of Tiger

“ensus 2018 released by Government of India

In July 2020, which of the following Statement(s)

Is/are correct ?

1. India has 70% of total global tiger's
population.

2. Nearly 30% of India's tigers live outside
tiger reserve.

Select the correct answer from the codes given
below.
Codes :
(a) 1 only

(b) 2 only
(c) 1 and 2 both

(d) Neither 1 nor 2
Which of the following rivers is a Trans-Himalayan
river ?
(a) Jhelum
(c) Ganga

(b) Sutlej
(d) Ravi

Which among the following hosted ‘Global
Vaccine Summit’ on 4t June, 2020 ?

(a) United Kingdom

(b) United States of America

(c) India

(d) China

Which of the following is NOT correctly matched ?
(Tribes) (Location)

(a) Angamis - Nagaland

(b) Birhors - Jharkhand

(c) Khas - Arunachal Pradesh

(d) Todas, - Tamil Nadu

‘Sarthak’ launched in August 2020 by Ministry of
Defence, Government of India relates to which
of the following ?

(a) Smart Bomb

(b) Rocket Launcher

(c) Offshore Patrol Vessel

(d) Light Combat Aircraft

121.

122.

123.

124

125.

(a) BT
(c) 3=

S TR g IS 2020 # STHI 1 TOR 2018

il g e % wee A e ey

Fordi § @ Fe-an/a wd B/E 7

1, g ¥ farga 9 g w1l B SAETE H 70% R |

2. WA % ST 30% STEl, &TH ARG &
T8 TEd ¢ |

fa 23 A e ¥ ad I gAY |

Fe

(a) Fad (b) e 2

(c) 13 2 3= (d) Fda 1782

fafafga @ @ SF-91 © 4¢ fEaeE-uR

(g -Temmera) adt 2 7

(a) sIe™ (b) Gaes

(c) T (d) weft

Frafafea d @ fred wiee S5 aies €

4 34, 2020 F! ASEE Hi 7

(a) T3S fohrem

(b) EgF T=T 3T

(c) ¥Rda

(d) <7

el & & P-w wd g @2 7
() (orafeufy)

(a)3T‘IT¢ﬁ = q'l"Tr@Wg

(b) fagie B e

(c) @g i S '

(d)ﬁg‘[ = aﬁm@m

TETT AT, MT HTEhT GT0 STt 2020 3 ot ol

nmmﬁwﬁw%rftqaﬁﬁﬁ:@mg?

(a) ®ré &g

(b) Tk Ny

(c) e veft wrare

(d) & TTerg fawm




Al

127

128

129

Match List = | with List I ang

answer using the codes given b eCt the correct
List - | List I(I)w the lists -
. (Location)
A. Sala Lake 1.
Arunacha| Pradesh
B. Badkhal Lake 2. Haryana
C. Loktak Lake 3. Manipur
D. Kaliveli Lake 4. Tamil Nady
Codes :
A B C D
(@ 1 2 3 4
() 2 1 3 4
(¢ 1 3 21va
(d) 1 4 2. ks
Which of the following State Governments has
started ‘Pashu-Kisan Credit Card’ Scheme in year
2020 ?
(a) Gujarat (b) Haryana
(c) Punjab (d) Rajasthan
Given below are two statements, one is Iapelled
as Assertion (A) and other as Reason (R): ;
Assertion (A) : Ahmedabad is the largest centre
of cotton textile industry In qula. ~ &
Reason (R) : Ahmedabad is l_ocateditmhas Jn 4
cotton growing regic_m‘ of India, SO
problem of raw materiais. o
Select the correct answer from the codes 9!
below.
Codes : is the
(a) Both (A) and (R) aré t“f)a"d (R)!
correct explanation of ( put (R) is not the
(b) Both (A) and (R) are }FZ':) R
correct explanation 0’ ia
(c) (A) is true but (R) 18 fa Se
(d) (A) is false but (R) 1S tru
4o of Indid virtually
On 27" July, 2020 Prime Mm'Stceo ncil of Medical
Fare : w Indian tories
Inaugurated three n€ ting 18 r
2 igh-end tes™= g place
Research (ICMR) hig i following P
COVID-19 test at which Of v
n
(@) New Delhi, Kolkata: C“?
i
(b) Kolkata, Noida, MumP2 o
(¢) New Delhi, Kolkata: MU™

i
() Chennai, Delhi, MumP?

RFL -1

126. @_lqﬁ-@_"a 20 N

ﬁ@@wéwm il
-1 Tt - 1l
(3fier) (srafefa)

A. gren 3fe 1. TS Weu

B. 735G« #t@ 2. ghamn

C. Siihes 3fiet 3. T

D. Fefiaeft e 4. dfierrg

F2:

(@)
(b)
()
(d)

" Pyt i 3 Rew u T 3 o e e
F1E 1A 1 gy a4 2020 H R R 7
(a) Tod (b) =T
(c) TE (d) TSEA™

A AaAaNaD>
Bw-aNm
N DWW
wWwds HAAD

127.

ﬂﬁéz‘mmﬁﬁrﬁi,ﬁ?qmaﬁmmw

7 = SRV (R) F& T8 :

or (A) : FERGIETE A A et A S Bl T
Fne

m(m;mm%mmm&ﬁ

@az,mﬁmmﬁ#mqﬁil

3 ot T % & T IR I |

f’:ﬁmmmaﬁwm(m. (A) 1 @&
ST T 8

(b) (A) 3R (R) 2Fit ¥ & 7 (R), (A) H &
T TE Al

() (A) @& & g (R) TR0 &

(d) (A) e 2 g (R) W &

27 9%, 2ozoﬂm%wnﬁﬁﬁcr%%aﬁﬁ
ﬁmmmﬁﬁygqﬁm%mmqﬁm
Ryfipee AU TREG (amé A m.am.) I3l
m@m@aﬁma@:mﬁm?

(a) 7 Rt e, I

(b) YT, e, qed

(o) 7 e, Frerel, T

(d) ﬁ'ﬂi, W! gﬁi

128

129.

-25-
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130.  Which one of the following is the youngest

131. Which of the following Airports in Uttar Pradesh
has been granted International Status on
24% June, 2020 by Union Cabinet of India ?
(a) Agra Airport (b) PrayagrajAirport
(c) Gorakhpur Airport (d) Kushinagar Airport
132.  Match List - | with List - Il and select the correct
answer using the codes given below the lists :
List-1| List -l
(National Parks) (States)
A. Indravati 1. Jharkhand
B. Mollem 2. Haryana
C. Kalesar 3. Goa
D. Betva 4. Chhattisgarh
Codes :
A B C D
(a) 4 3 2 1
(b) 4 2 3 1
(c) 4 4 "3%Es
(d) 3 4 2 1
133. Which of the following countries was NOT elected
ot 020 252 o ermanet marer of
bbbl ecurity Council for the year
(a) Ireland (b) Norway
(c) Mexico (d) Canada
134. Which of the following are NOT commectly matcheq 2
(Mineral) (Mining City)
1. Copper - Chitradurga
2. Iron ore - Ballari
3. Manganese - Bhilwara
4. Bauxite - Katni

mountain range of India ?
(a) Himadri Range  (b) Aravalli Range
(c) Western Ghat (d) Vindhya Range

Select the correct answer from the codes given
below.

Codes :
(a) 1and 2 (b) 2and 3
(c) 1and 3 (d) 2and 4

130.

131.

132.

133.

134,

RFL )

Prafifed 3 § FH-@ e i Tla vea of @

(a) feeht Aiof (b) et Ao
(c) ufFarh ure (d) Forearser af
I Wew & Frfeiea # @ fra gamg 318 1 wwg
¥ Fedra whimoee ¥ 24 54, 2020 I Y gl
wiiepa fon R 7
(a) 3R & 3Fg  (b) FANRIS FAT§
(c) TG &4TE G (d) FITR &I I
Tt - | # g - 11 A gaferm il e g $
2 o ™ %2 ¥ T IR YA
geft- | i -l
(i 3emA) (T=3)
A. T - 1. FR@UE
B. Ao 2. gfamm
C. HoEt 3. Tar
D. saan 4. Tefog
%e:
A B oChiMD
@ 4 -3 . Dk
(b) 4 2% S5y
(c) 4 1 32
{d) 3 -4 wZped

ﬁw%mﬁﬂﬁmémﬁaézom-zz%m
HYH T, Jeam IR & srearlt wew & w9 §
2020 % = g T R 7

(a) STREvE (b)

(c) Afaan (d) TR

mﬁam-mm@mwg?
(wfrw) (I IIR)

1. ditar - gl

2. dire IR - Year

3. Hrfiw - feEm

4, §TFETEe -  wh

H9 fod ™ ge @ aft 3w g |

w2

(a) 13l 2 (b) 23k 3

(c) 13 3 (d) 23 4

i



135

136.

137.

138.

138,

140

Consider the foIIowing state
National Education Polic ments aboyt New

a
Cabinet of India on 2gth Ju|);' Z%F;BOYed by Union

1. It was drafted by a Commj
Dr. K. Kasturirangan, Ittee headed by
2. It will replace the previous E

which has been followed sindUCahon Policy

c
years. @ last 38
Select the correct statement(s) fro
given below. (8) from the codes
Codes :
(a) 1 only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor 2

Valley of Kashmir is situated between
(a) Kangara and Dhauladhar ranges
(b) Pir-Panjal and Himadri ranges

(c) Mahabharat and Dhauladhar ranges
(d) Pir-Panjal and Mahabharat ranges

Which of the following Indian States/Union
Territories launched Electric Vehicle Policy en
7'" August, 2020 ?
(a) Madhya Pradesh
(c) Delhi

(b) Uttar Pradesh
(d) Tamil Nadu

Consider the following tributaries of River Yamuna
and arrange them from West to East

1. Betwa

2. Ken

3. Sindh

4. Chambal
Select the correct answer from the codes given
below.

Codes :
(a) 4,3 1and 2 (b) 1,2,3and 4
(c)3,2,1and 4 (d) 2,3, 1and 4

Which of the following Indian Foundations has
received the Food Vision 2050 prize In August
2020 ?

(@) Smile Foundation

(b) Naandi Foundation

(¢) Adani Foundation

(d) Reliance Foundation

matched ? Iron-Ore
(Country) roducrl‘gg Area)
Karaga
Eg) Eazakhstan o Kriv?n); rlil&Q
krain = Nor!
() Germany ~  pyrenees
France -27-
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141. First ever containership from Kolkata Port to

Agartala was sent through which one of the
following Ports of Bangladesh in July 2020 ?

(a) Benapole

(b) Maloti

(c) Payra

(d) Chattogram (Chittagong)

142.  In which of the following regions of the world, the
production of citrus fruits is well developed ?
(a) Monsoon regions
(b) Tropical high lands regions
(c) Mediterranean regions
(d) Equatorial regions

Who among the following has been awarded with
the ‘Life Time Excellence’ Award in Earth System
Science in July 2020 by Ministry of Earth Sciences,
Government of India ?
(a) S. Suresh Babu

(c) S. P. S. Kushwaha

143.

(b) P.L. N. Raju
(d) Ashok Sahni

144. Match List — | with List - Il and select the correct
answer using the codes given below the lists :
List— 1| List -1l
(Tropical cyclones) (Country)
A. Baguios 1. Australia
B. Hurricanes 2. China
C. Typhoons 3. Philippines
D. Willy-Willies 4. United States
of America
Codes :
A B C D
(a) 3 4 1 2
(b) 3 4 2 1
(c) 2 3 4 1
(d) 2 1 3 4
145. With reference to Eutrophication, which of the

following statement(s) is/are correct ?
1. It decreases dissolved oxygen of water.
2. Itis a phenomenon of nutrient enrichment

of a water body.
Select the correct answer from the codes given
below.
Codes :
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2
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(a) SATIIA |

(b) AT

(c) T 5
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147.
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149.
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5 RFL -1
arling range is situated i t
following coasts of Aus,traliaa'l?ong whieh e Bt TS Rfer & P @ & @ g
(a) North-Eastern Coast W yafer & ¢
(b) Southern Coast (a) 38— w2
(c) Eastern Coast (b) 2Rkt 72
(d) South-Western Coast (c) TN @
(d) SRoft-ufteh a2
Arrange the followi i ;
5 gf A oommv;::i :;:tn:ts in chronological | 147. mﬁgmqaﬁ H I TN TR
|. Project Tiger 3
Il Pro}ect Elgephant | I T !
IIl. Wildlife Protect Act Il. SISt el
IV. Biological Diversity Act NI, St HeEm Srfbfem
Select the correct answer using the codes given Iv. 4 A
below. ﬁﬁﬁﬂﬁ?ﬁwﬁmgﬁql
Codes : F:
@) I, 11, 1ll, IV (b) 1, 1, 1V, I @) 1, 1,1, (b) I, 1, IV, 1l
(©) L L v (d v, 1 (€ W, 1, 11, IV (@) 1,1V, 1,1
Which of the following ocean currents is | 148. F=feifias # & SiH-a1 vgm@ra gr e we@ER
associated with Indian Ocean ? € T 2 7
(a) Florida current (b) Canary current (a) wehfeeT T - (b) F HRT
(c) Agulhas current (d) Kurile current {c) 3T 9N . (d) FUES g
The movement of nutrient elements through the | 149, & TRfRIfyehr 7 % fafte= =e=i & g T
various components of an ecosystem is called Tedl W1 O FEATT 8
(a) Bio-geo-chemical cycle (a) Sa-Y-TERH =5
(b) Bio-geological cycle (b) Sa-yTfii =5
(c) Ecological succession (c) TRfefirp rgHa
(d) Biological cycle (d) e =%
Match List — | with List - Il and select the_corr'ect 150. g f%&l 2‘;\; ; gg%ﬁm o g &
answer using the codes giver:- fbetlomlrlthe lists : -1 T -1
List -1 ot = o
(Ethnic Group) (Country) A ) - g: )
A. Jews ; ﬁgzpt B. 3 2 &
B. Teda 3. Lioys C. ¥ 3. e
C. Beja 4: Israel D. 9 4. TR
D. Lur w2
Codes : A, B SR
A B Cc D @) 1 20 Sha
(@) 1 2 3 ® 4 1 2 3
a4 1 2 ¢ © 4 1 398
c 4 1 8 2 @ 4 3 1 2
@ 4 38 1
————‘/
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